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[ 2mxzx [ Ns [ EW | exzxus | Ns | EW | #1 [ #12 | #1 [#12] # [#12|| Mean | Ns
11| S |None[ 4Hs5 | 450 4HS5 | 450 NS450
12| W | NS | 4Hwa 420 4HW5 450 | 30 1 EW440 | 1
13| N |Both| 4ss5 | 650 6CS6 | 1370 720 12 NS660 -12
14| E |None|  GHXE6 1210 | 4HE6 480 730 12 EW690 | -11 5
15| s | Ns| 1NE2 | 100 INN3 | 150 50 2 NS70 | 1 -2
16| W | EW|[ 2nNs4a | 180 3NS-1 50 | 230 6 NS180 6
17 | N |None[  4Hs4 | 420 2SN5 | 200 220 6 NS280 | 4 2
18| E [ NS | 3nw3 400 1NW3 150 250 6 EW220 | -5 -2
19| s |EW| sDse | 420 4HN5 | 450 30 1 NS470 | -2 1
20 | W |Both|  4Hs-2 200 1NN1 90 290 7 NS260 | -10 5
w3 IMP| 13 | 40 22 | -7
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B# | DL | £ % Fall BB ik REAA | COP Datum
Y[ 22z | Ns | EW | 2922% | NS | EW | #2 | #4 |#2 ] #4 |#2 | #a || Mean | Ns | EW
11| S |None| 4Hs5 450 4HS6 480 30 1 NS450 -
12| W | NS 4HW6 480 4HWS5 450 30 1 EW440 | -1
13| N |Both|  4HN-1 100 5585 650 750 13 NS660 | -13
14| E |None| 4SXN-4 800 4HE4 420 380 9 EW690 | -3 7
15| s | NS 1NN2 120 ANE-2 100 20 1 NS70 | 2 -
16| W | EW 2NS4 180 1CW-3 | 300 120 3 NS180 3
17 | N |None|  2Ns2 120 4SN4 420 300 7 NS280 | -4 4
18| E | NS INW3 150 3NE3 400 | 250 6 EW220 | 2 5
19| s | EW 4HN5 450 6DS6 920 470 10 NS470 | -1 -10
20 | W |Both|  4Hs-1 100 4HS4 620 720 12 NS260 | -8 8
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B# | DL | £ % Fall BB ik REAA | COP Datum
Y[ 2mz2s | NS | EW | 2925% | NS | EW | #5 | #10 | #5 |#10] #5 [#10|| Mean | Ns EW
11 | S |None 4HS6 480 3NN5 460 20 1 NS450 1
12 | W | NS 4HES5 450 3NW5 460 10 EW440 1
13 | N |Both 3NN4 630 6CS6 1370 740 12 NS660 -1 -12
14 | E |None 6HXE7 1310 3NW5 460 850 13 EW690 | -12 -6
15| S | NS 2882 110 1NE-2 100 10 NS70 1 -1
16 | W | EW 1CW-2 200 2NS4 180 20 1 NS180 1
17 | N |None 4SN5 450 3SN4 170 280 7 NS280 5 3
18 | E | NS 1NW4 180 1NW4 180 EW220 1 -1
19| S | EW 4HN5 450 2NN6 240 210 5 NS470 -1 6
20 | W |Both 4HN4 620 4HS-1 100 720 12 NS260 8 8
w3 INP| 26 | 25 3 | -2
B 5 Woods 10 Dragonite
+ B INP 26 25
&3+ IMP 26 25 .
2 HVP 10.39 9.61
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B# | DL | £ % Fall BB ik REAA | COP Datum
¥ [ 2mxs» [ Ns [EW | e5s3% | NS [ EW | #6 | #8 | #6] #8 | #6 [ #8 || Mean | NS | EW
11| S |None|  4HS5 450 3NN5 460 10 NS450
12| W | NS 3NW5 460 4HE5 450 10 EW440 | -1
13| N |Both|  3NN4 630 3css 150 480 10 NS660 | -1 1
14 | E |None| 6HXE7 1310 6HE6 980 330 8 EW690 | -12 7
15| S | NS 1NE-1 50 1NE-1 50 NS70 | -1 1
16| W |EW| 1CW-3 300 1CW-2 200 100 3 NS180 | 3 -1
17 | N |None|  4HN4 420 2SN5 200 220 6 NS280 | 4 2
18| E | NS 1NW4 180 1NW2 120 60 2 EW220 | 1 -3
19| s | EW 4HN5 450 4HN6 480 30 1 NS470 | -1
20 | W (Both|  4Hs4 620 4Hs-1 100 | 720 12 NS260 | 8 8
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B# | DL | £ % Fall BB ik REAA | COP Datum
* tyzx% | NS | EW | 29223 | NS | EW | #7 | #9 |#7 | #9|#7|#9 || Mean | NS EW
11 | S |None 4HS5 450 4HS5 450 NS450
12 | W | NS 4HW-1 50 4HW5 450 500 1 EW440 10
13 | N |Both 6CS6 1370 4SS5 650 720 12 NS660 12
14 | E |None 4HE6 480 6CE-3 150 630 12 EW690 5 -13
15| S | NS 2882 110 1NE-1 50 60 2 NS70 1 1
16 | W | EW 2NS3 150 2SE-3 300 150 4 NS180 -1 -3
17 | N |None 2NS2 120 3NS-1 50 170 5 NS280 -4 8
18 | E | NS 1NW3 150 1NE4 180 30 1 EW220 2 -1
19| S | EW 5HN6 480 5DS6 420 60 2 NS470 2
20 | W |Both 4HN4 620 4HS4 620 NS260 8 -8
3 INP) 33 | 16 33 | -14
~ W] v
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2 VP 15.29 4.71
5z




11| 1142 X F 2RBERF HL e | 11| » o o
"
NS T g EERS (R0) 1 1 T bl 6 1 3 NS BEy fﬁ#’?ﬁ(?(:)
EW #8527 $%33 (0 apie EW 2% et&k(#0)
B# | DL | £ % Fall BB ik REAA | COP Datum
* tyzx% | NS | EW | 24223 | NS | EW | #11 | #13 [#11[#13|#11[#13 || Mean | NS EW
11 | S |None 4HS5 450 3NN5 460 10 NS450
12 | W | NS 2SXN-3 800 4HWS5 450 350 8 EW440 -8
13 | N |Both 4SS5 650 3NS6 690 40 1 NS660 -1
14 | E |None 6HE6 980 4HE6 480 500 1 EW690 -7 -5
15| S | NS 1NN3 150 1NE-2 100 50 2 NS70 2 -1
16 | W | EW 1NS3 150 2NS3 150 NS180 -1 1
17 | N |None 4SN6 480 4SN5 450 30 1 NS280 5 -5
18 | E | NS 1NW3 150 2NE2 120 30 1 EW220 2 -3
19| S | EW 4HN5 450 4HNG6 480 30 1 NS470 -1
20 | W |Both 4HN-1 100 2NN-1 100 NS260 -8 8
w3 IMP| 3 |22 16 | -6
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[ 2923% | NS [ EW | 25z5% | NS | EW | #3 | #14 | #3 [#14] #3 [#1a || Mean | Ns EW
11 S |None 4HS5 450 4HS6 480 30 1 NS450 -1
12| W | NS 4HW5 450 4HW5 450 EW440
13 | N |Both 4NN4 630 4HN-1 100 730 12 NS660 -1 13
14 | E |None 4HEG6 480 4HEG6 480 EW690 5 -5
15| S NS 2SS-1 100 2CS-1 100 NS70 -5 5
16 | W | EW 2NS4 180 1NS3 150 30 1 NS180 1
17 | N |None 4HN5 450 2SN5 200 250 6 NS280 5 2
18 | E NS 3NW3 400 3NE4 430 30 1 EW220 -5 5
19| S | EW 5HN6 480 4HN5 450 30 1 NS470 1
20 | W (Both 4HS4 620 4HN4 620 NS260 8 -8
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" Zmzss [ NS [ EW | 25283 | NS | EW | #12 | #1 |#12] #1 |#12] #1 || Mean | Ns | EW
11| S |None]  4HS5 450 4HS5 450 NS450
12| W | NS 4HW5 450 4HW4 420 30 1 EW440 -
13| N |Both| 6CS6 1370 4sS5 650 720 12 NS660 | 12
14 | E |None]  4HE6 480 6HXE6 1210 | 730 12 EW690 | 5 1
15| S | NS 1NN3 150 1NE-2 100 50 2 NS70 | 2 g
16| W | EW/| 3Ns-1 50 2NS4 180 230 6 NS180 | -6
17 | N |None]  2SN5 200 4HS4 420 220 6 NS280 | -2 -4
18| E | NS 1NW3 150 3NW3 400 | 250 6 EW220 | 2 5
19| s |EW 4HN5 450 5DS6 420 30 1 NS470 | -1 2
20 | W [Both|  1NN1 90 4HS-2 200 | 290 7 NS260 | -5 10
A3 INP|40 |13 7 | 22
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Y[ 2nz2s [ NS | EW | 2922% | NS | EW | #4 | #2 |#4 ] #2 | #4 | #2 || Mean | Ns | EW
11| S |None]  4HS6 480 4HS5 450 30 1 NS450 | 1
12| W | Ns 4HW5 450 4HW6 480 | 30 1 EW440 1
13 | N |Both| 5ss5 650 4HN-1 100 | 750 13 NS660 13
14 | E |None]  4HE4 420 4SXN-4 800 | 380 9 EW690 | 7 3
15| s | Ns 1NE-2 100 1NN2 120 20 1 NS70 1 -2
16| W|EW| 1cwW-3 300 2NS4 180 120 3 NS180 | 3
17 | N |None]  4SN4 420 2NS2 120 300 7 NS280 | 4 4
18| E | NS 3NE3 400 1INW3 150 250 6 EW220 | -5 -2
19| s | EW 6DS6 920 4HNS5 450 470 10 NS470 | 10 1
20 | W |Both|  4Hs4 620 4HS-1 100 | 720 12 NS260 | 8 8
w3 INP|56 | 7 29 | 26
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£ 3 TNP 56 7 ©
& 2VP 20.00
b A




2 - - < 3
11| 1142 £ 2RABERE HL e | 11 :
bh)
NS sz #4i2(F0O 1 0 T bl 3 5 NS meEs #up(R0)
EW #ischi %2 4(R0) abie EW %4 mz &(PC)
B# | DL | £ % MEZ g ik REAA | COP Datum
* tyze% | NS | EW | 23253 [ NS | EW | #10 | #5 |#10] #5 [#10] #5 || Mean | Ns EW
11| S |None 3NN5 460 4HS6 480 20 1 NS450 -1
12 | W | NS 3NW5 460 4HES 450 10 EW440 -1
13 | N |Both 6CS6 1370 3NN4 630 740 12 NS660 12 1
14 | E |None 3NW5 460 6HXE7 1310 | 850 13 EW690 6 12
15| S | NS 1NE-2 100 2SS2 110 10 NS70 1 -1
16 | W | EW 2NS4 180 1CW-2 200 20 1 NS180 -1
17 | N |None 3SN4 170 4SN5 450 280 7 NS280 -3 -5
18 | E | NS 1NW4 180 1NW4 180 EW220 1 -1
19| S | EW 2NN6 240 4HN5 450 210 5 NS470 -6 1
20 | W |Both 4HS-1 100 4HN4 620 720 12 NS260 -8 -8
w3 IMP| 25 | 26 2 | 3
B 10 Dragonite 5 Woods
+ B IMP 25 26
£ 1NP 25 26 B
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B# | DL | £ % MEZ g ik REAA | COP Datum
Y= H2%% | NS | EW | ¢%=253% | NS | EW | #8 | #6 | #8 ] #6 | #8 | #6 || Mean | NS EW
11 S |None 3NN5 460 4HS5 450 10 NS450
12| W | NS 4HE5 450 3NW5 460 10 EW440 1
13 | N |Both 3CS5 150 3NN4 630 480 10 NS660 -11 1
14 | E |None 6HEG6 980 6HXE7 1310 | 330 8 EW690 -7 12
15| S NS 1NE-1 50 1NE-1 50 NS70 -1 1
16 | W | EW 1CW-2 200 1CW-3 300 100 3 NS180 1 -3
17 | N |None 2SN5 200 4HN4 420 220 6 NS280 -2 -4
18 | E NS 1NW2 120 1NW4 180 60 2 EW220 3 -1
19| S | EW 4HN6 480 4HN5 450 30 1 NS470 1
20 | W (Both 4HS-1 100 4HS4 620 720 12 NS260 -8 -8
@3t IMP| 11 | 31 .25
B 8 di R 6 ES o
* B IMP 11 31
£ 35 NP 11 31 0
- H-VP 4.03 15.97
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B# | DL | £ % MEZ g ik REAA | COP Datum
* tyze% | NS | EW | c23zu3% [ NS | EW | #9 | #7 | #9 | #7 | #9 | #7 || Mean | Ns EW
11 S |None 4HS5 450 4HS5 450 NS450
12| W | NS 4HW5 450 4HW-1 50 500 11 EW440 -10
13 | N |Both 4SS5 650 6CS6 1370 720 12 NS660 -12
14 | E |None 6CE-3 150 4HEG6 480 630 12 EW690 13 -5
15| S NS 1NE-1 50 2SS2 110 60 2 NS70 -1 -1
16 | W | EW 2SE-3 300 2NS3 150 150 4 NS180 3 1
17 | N |None 3NS-1 50 2NS2 120 170 5 NS280 -8 4
18 | E NS 1NE4 180 1NW3 150 30 1 EW220 1 -2
19| S | EW 5DS6 420 5HN6 480 60 2 NS470 -2
20 | W (Both 4HS4 620 4HN4 620 NS260 8 -8
@3t [MP|16 |33 14 | -33
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* B IMP 16 33
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B# | DL | £ % MEZ g ik REAA | COP Datum
* txzux | NS | EW | 223 | NS | EW | #13 | #11 [#13[#11|#13][#11 || Mean NS EW
11 | S |None 3NN5 460 4HS5 450 10 NS450
12 | W | NS 4HWS5 450 2SXN-3 800 350 8 EW440 8
13 | N |Both 3NS6 690 4SS5 650 40 1 NS660 1
14 | E |None 4HE6 480 6HE6 980 500 1 EW690 5 7
15| S | NS 1NE-2 100 1NN3 150 50 2 NS70 1 -2
16 | W | EW 2NS3 150 1NS3 150 NS180 -1 1
17 | N |None 4SN5 450 4SN6 480 30 1 NS280 5 -5
18 | E | NS 2NE2 120 1NW3 150 30 1 EW220 3 -2
19| S | EW 4HNG6 480 4HN5 450 30 1 NS470 1
20 | W |Both 2NN-1 100 4HN-1 100 NS260 -8 8
B3 IMP|22 | 3 6 | 16
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B# | DL | £ % MEZ g ik REAA | COP Datum
* tyzx% | NS | EW | 24223 | NS | EW | #14 | #3 [#14] #3 [#14| #3 || Mean | NS EW
11 S [None| 4HS6 480 4HS5 450 30 1 NS450 1
12 | W | NS 4HW5 450 4HW5 450 EW440
13 | N |[Both 4HN-1 100 4NN4 630 730 12 NS660 -13 1
14 | E [None 4HEG6 480 4HEG6 480 EW690 5 -5
15| S NS 2CS-1 100 2SS-1 100 NS70 -5 5
16 | W | EW 1NS3 150 2NS4 180 30 1 NS180 -1
17 | N [None 2SN5 200 4HN5 450 250 6 NS280 -2 -5
18 | E NS 3NE4 430 3NW3 400 30 1 EW220 -5 5
19| S | EW 4HN5 450 5HN6 480 30 1 NS470 -1
20 | W |Both 4HN4 620 4HS4 620 NS260 8 -8
@3 IMP| 1 |21 A3 | -7
B 14 Catchall 3 Oceans
* B IMP 1 21
£ INP 1 21 2
- 3VP 4.03 15.97
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